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4
1. Answer the following questions (any ten) :

1x10=10
T RS Ted forl (R Greet webt) -

(a) What is social indifference curve?

AGE W F (@1 & 2

\(b/) Define property rights.
Tifes wfqerae i@ f |

(c) at is monopoly power?

GHCHoA IERT *IfE & 9
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(2) (3)
(d) What is product differentiation? () Define cartels.

A Resaa e 7 gam 2

TS F9a Tk o |
(e} Define saddle point.

(m) What is exclusivity?
el R sieea o | kgt P s o 7
() What is payoff matrix? (n) Write one difference between private
2o ciees 2 / goods and public goods. .
AETS T AF RN T oS
{gg In what type of market we get 1%[‘:; I\D ® 1 N
asymmetric information?
@ @R ITRS SANS T HIREA Tl ‘ (o) State Bertrand’s model of oligopoly.
IE? :

IRWET FARCFON TSR TGO TS 447 |
(h) _ Give an example of positive externality. [

i — Bror & o B o 2. Answer the following questions (any five) :
T . 2x5=10
(i) What is first-degree price N e e (R )
discrimination? (a) Define Pareto efficiency.
29[ IR 73 fAeew e & g e CICTB” T g fa |
(), What is the basic difference between (b) , Write two features of public goods.
/ oligopoly and duopoly? -\/ e
qE=A ¥ |
THRGFOR TR WE AR IR A0 ‘ S
el &2 () How does concentration ratio determine
: degree of monopoly power?
(k) ,What is shutdown point? R P
\/ s (TR TS GIBE W <R T
wera i 2 TR iR 23 2
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(4)

(d) What is ‘two-person zero-sum’ game?
- -’ @ 2

() What is meant by signaling in
a market?

IR AT Iferee [ 3em 2
() Distinguish between production
s~ efficiency and exchange efficiency.
Teore el o R e e ©ie
foram

(g) What are minimax and maximin
strategies?

fferra’ e ‘A (e 12
(h) What is third-degree price
v discrimination?
wE TR 7R et 0

3. Answer the following questions (any four) :

5x4=20
o R T o (R et i)

(a) , Explain how efficiency can be achieved
\/ in exchange through Edgeworth box
diagram.
GHagfq IRy B 7R REE vwer @R
A1 ~1f4, M 0
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(b) Briefly explain the causes of market
failure.

o e FRPRE BELE T T4 |

(c) , Explain the concept of excess capacity
\/ under monopolistic competition.

GEETE qEEe T SfedE WAoo
HIRTCHT AT 347 1

(d) When is price discrimination possible
and profitable? Explain.

R Renm @R 950 9 s W7

AR FAT

(e)/ Explain the concept of Prisoner’s) J
Dilemma. /

IRRAR A4 4RETCGT M <5 |

() Distinguish between perceived and
proportionate demand with the help

of a diagram.
fam =@ wRRfre O ST siR
YRENCHT AN <40 |

(g) Explain how the growth of monopoly
power can lead to market failure.
G IS TR (TR qwE Ko
31 T3, A T4 |
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(6)
Do you think monopolist always
earns supernormal profit?  Justify

your answer.

GO AHEd ek A el TS
A FAA 7 (TR Teqd i

4. Answer the following questions (any foun :

Cor

(a)

(c)

22A/1119

10x4=40
orspTgEa ©] fora (4 e o) -

What is production-possibility frontier
(PPF)? How can resources be allocated -,
efficiently through PPF? State Pareto’s G
third condition for optimality. 2+6+2=
e FoiiEer @ (Bl P @w.) 7 Teemm
TEel @A AR @ Ree @
wEed A G CRG'T WATST 4R
wem HECo! o |

State and explain Coase’s theorem.

the limitations of Coase’s
What are 10

4

theorem?
T’ OGOl TS WF ARI | @R 4RI

Sraaeryz o 2

How can monopoly power be controlled

and regulated? Explain. « 10
GFTHH R e @ fagt o afire

R ~nf 2 rEm w4

{ Continued )

(7))

\(d)/-:xplain how prices and output can
b

(e)

(9)

22A/1119

e determined wunder monopolistic
competition in the short run and
long run. 10

R TERT 79 A B e e
M(RTeTS CFTtr foranetet i =1, 2 <1 |

Explain diagrammatically Cournot’s
model of duopoly equilibrium. 10

TR e o ST S e =

Write two applications of game theory.
Explain the method of solving
a two-person zero-sum game. What are
the limitations of game theory? 2+6+2=10

mwmmﬂmlkﬂmﬁ—ﬁﬁxm_
CIERFT (T CPOTed Fam <ofad =nfd, <=
FA N OGI HARTZEE STare < |

What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
markets where information asymmetry
prevails, 2+6+2=10

WW@T&T%?WWW
WMCOW?WWWW
TSI TR oy o
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(8)

(h) _Explain why there is no supply curve

\./under monopoly. Explain the case

of dumping in international price
discrimination. 5+5=10

GIE0U IGTE @ @ N o TR 3

RURDIE T WIS 01 (T e o T I Crace L B
CFAS I8 YIR9CH A= 3547 |

() ~ Describe how a monopolist  will
\/ discriminate  the price in the markets
with different elasticities of demand

and attain equilibrium. 10
701 fon vitR fefSe e oo qame sl
GBI IGRO  @EWE  SHAN oS 27,
HICEAOAT 34T |

) Compare and contrast Bertrand

b and Stackelberg’s equilibrium under
oligopoly. 10
TWHEOR IWRS @GS IF  (BEe[si
SRR T S A1 (AT |
* * %
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